[ number of missing inner layers |

[ number of missing outer layers |

1e Entries 312523 1 - Entries 312523
E Mean 0.07494 : Mean 1.339
F Std Dev 0.3079 : Std Dev 2.502
-l I 1| e : |
107 Entries 312222 10 : Entries 312222
F Mean 0.07511 F Mean 1.266
r Std Dev 0.3059 r Std Dev 2.448
-2 eefaiiitei.id... S U A R S PR
10 3 Entnes 10 3 Entries 312535
F Mean F Mean 1.338
3 r 3 r Std Dev 2.499
10°F 10°F
o o Entries 312558
r r Mean 1.338
4 4 Std Dev 2.499
107 N0 -ah i S i
F Entries 312182 F : :+ | Entries 312182
L Mean 0.0752 L . . Mean 1.265
10°° E ey 0.3062 10°° SRRSRREESTIEREEE -. ________ ‘ s Der, 2.448
0105(3_....I....I....I....I....I....I....I........ 01059-""!""!' II
'ﬁ o . ‘é = . =5 . .
F b F ¥ . .
c  — e N E IR
0.95F- 0.95F--- -4 T 7 SEH SRR PETETTPERRERRD
Eoor i 1 E+ 7 | : :
0.9% . . . . . 7. : . 0.95 . . . .
0 05 115 2 25 3 35 4 45 5 0 5 10 15 20 25
—— DOM—T IIIdI SLE] ((Oar-prrast L=-TTewgeoTIT
g D M_mf( it_sTe, ar- ﬁjasel newgeom
|j — B Mﬁ@ le_ste Zn_ﬁt ralr- aS%sle%ee eom
mean i s DOM DI e‘r(s.tPE nencpstepz ttbargpﬁasel-newgeom
= 40 Entries 312523
n r Mean 14.88
> 4 Std Dev 5.901
A 35 10°F T |
2 E [ Entries 312222
= C ‘EMean 15.13
v 30 I N Ld Dev 5.918
3L il R
25 10 E : 312535
F 14.88
20 | -
1025_ Entrie] 2558
E Mean 14.88
15 o td Dev 5.903
r : I
10 Entries 312182
10 E Mean 15.13
F Std Dev 5.917
5 r T
OM.O""i""!""!""i""i"" o Lf APl I P T P
= . . = o +
I3 : p” % : < E
a4 Hhpdiyit : ] @ 11
: : : 1
: : : : : E ; ¢+ ++.
0.95 - 0.95
=3 -2 -1 0 1 2 3 0 5 10 15 20 25 30 35 40
track n track hits
[Nofreco track vs pT |
Entries 133002 1e Entries 324932
Mean 2.164 3 Mean 2.244
Std Dev 6.079 F Std Dev 6.036
. | B . |
|
Entries 133002 10 E Entries 324726
Mean 2.164 E Mean 2.243
Std Dev 6.079 r Std Dev 6.182
: I 10—2 [ . N 1
Entries 133002 E Emrles 325009
ean 2.164 o Mean 2.239
StéyDev 6.079 -
L 107
Entrids 133002 E
Mean 2.164 o
Std D 6.079 4 B
| T 1077 e
Entries 133002 F Entries 324658
Mean 2.164 C Mean 2.244
Std Dev 6.079 Sl ..., Std Dev 6.212
. 107 . ﬂ_
: : : 010%F :
. . B = .
N ¥ b [V L N
H ; ; o L H
: : : [ S EPERERPR «H-+++ e d
0.95— . : ’2 s 0.95— . 5
10 1 10 10 10 10 1 10
TP P track p_

o



	Contents
	Page 1


